
Please read instructions carefully. Remove all wrapping material and packing from the 
carton. See hardware and furniture parts list for guidance. Be sure you have all parts 
before you start to assemble the product. Place all furniture parts on a clean surface, 

such as carpet or rug to prevent the item from being scratched.

ASSEMBLY INSTRUCTIONS 
TORINO 1 SEATER CHAIR

www.adairs.com.au
www.adairs.co.nz

15 mins

1/6



A x 12

M6x30 mm

B x 12 C x 1

Ø12x1.5 mm 4 mm

1

2

3

4

5

6

1 x 1

2 x 1

3 x 1

4 x 1

5 x 1

6 x 1

2/6



B x 3

Ø12x1.5 mm

C x 1

4 mm

A x 3

M6x30 mm

1

3

A
B

C

80%

3/6

1

2



3B x 3

Ø12x1.5 mm

C x 1

4 mm

A x 3

M6x30 mm

B x 2

Ø12x1.5 mm

C x 1

4 mm

A x 2

M6x30 mm

AB

A

B

2

4

80%

80%

4/6

4



B x 2

Ø12x1.5 mm

C x 1

4 mm

A x 2

M6x30 mm

B x 2

Ø12x1.5 mm

C x 1

4 mm

A x 2

M6x30 mm

A
B

A
B

80%

80%

5/6

6

5



5

6

100%

C

x12

6/6

7

8


	Sheets and Views
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-1
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-2
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-3
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-4
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-5
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220912-6

	New_AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916.pdf
	Sheets and Views
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916-2
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916-3
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916-4
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916-5
	AI_106-2-0054_TORINO 1 Seater V2, acacia - 54597 -  20220916-6





